a(d cot(B))
S

1072

1073

ey
3
S
ey
3
o~

| U N U Y

----- Hss |
2 3 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

|
w

|

N

|

AN

o

=

|

e Razanazzsnasy:
RS

|

AN

o

=

ao ny) (cm)
(0 d) (cm)
[EEN
S

1072
1072

1073

Ratio
o
Ratio
w

T {}H 1] B 11 I T
-3 -2 -1 0 1 2 3 -
TP n (PCA to beamline) TP n (PCA to beamline)

wff
N
AN
o
=
N
w

a0 p,/p,)

St i
-1 0 1 2 3
TP n (PCA to beamline)

E—, E
Fecgereienie--

-
|
N



	Contents
	Page 1


